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Wednesday, October 24, 2007


--- On commencing at 9:00 a.m.


MR. ROSENBERG:  Good morning.  Are the mikes on?  I have to learn how to press the buttons.  Can you hear us?


MR. MILLAR:  They're on.


MR. ROSENBERG:  Thank you.  Good morning.  Today is a technical conference, and before we begin -- I see Enbridge is now here, so let's begin.  The first order of business, of course, is any preliminary matters, and we will deal with the agenda and then we will get started.


So before the agenda, are there any matters anybody wants to raise?


If not -- oh, yes.

Preliminary matters


MR. WARREN:  Sorry, can I make a public service request?  Before the end of the day, if people could indicate if they have any questions for Laurence Booth?  If nobody has any questions, then obviously he doesn't need to come tomorrow, and if there are only a limited number of questions, perhaps people could indicate that and he could answer them in writing.


I anticipate tomorrow may be a full day and if he only has to come for a few questions, it is probably not worthwhile, so if people could let me know, I would appreciate it.  Thanks.


MR. ROSENBERG:  All right.  I understand that today might be a short day, so turn your mind to it sooner rather than later.  Any other preliminary matters before we get to the agenda?


If not, this morning I understand -- well, Bob?  I see you.  I see Bob --


MS. GIRVAN:  Bob 1, or Bob 2?


MR. ROSENBERG:  -- Bob 1 reaching for the mike.


MR. WARREN:  We have the expert witness who has filed testimony on behalf of our client --


MR. ROSENBERG:  They can't hear you at the back.  I guess I should stop talking about Jerry Farrell, eh?


[Laughter]


MR. WARREN:  The expert evidence has been filed on behalf of our client, VECC, and the City of Kitchener from Dr. Bob Loube, and he is available for questions.


MR. ROSENBERG:  Do I take it that Dr. Loube is going to be the only witness this morning, in fact today?


MR. WARREN:  As far as I know he is, I think that is right.


MR. ROSENBERG:  Is there anybody else who has any witness who will be coming forward?  If not, it sounds like that is the agenda.  If we get -- if we get there, we'll probably take a morning break around 10:30, 10:45, depending on where the questions are at.  So why don't we begin?


Yes, who would like to go first?  No takers.  Board Staff, would you like --


MR. PENNY:  As a matter of principle, I guess I would say that if there are people who have what I would say are -- who are similar in interest to VECC --


MR. ROSENBERG:  You would like to hear them first?


MR. PENNY:  -- CCC, et cetera, that they ought to go first.  And those adverse in interest to VECC, CCC, et cetera, should go last.  But other than that, I don't think it matters.


MR. ROSENBERG:  That is a plan that makes sense.


MR. PENNY:  Obviously Board Staff has more questions than we do, so there is probably some overlap.  So it would probably make sense for them to go before us, because it may alleviate the need for us to ask some of our questions.


MR. ROSENBERG:  It is not a contested proceeding here.  It does make sense to have some agenda.  Would Board Staff like to go first?

VECC AND CITY OF KITCHENER - PANEL 1


Dr. Robert Loube

Questions by Mr. Millar


MR. MILLAR:  I guess that is me.  Thank you, Ken.  Good morning, Dr. Loube.  It will surprise no one in the room that these questions were largely written by experts, and I am going to read them out and if you have questions back to me, we may get into trouble in a hurry, but I will do my best to clarify the questions if anything is unclear.  I am hoping you will do most of the talking.


We prefiled the questions, I believe, so do you have the questions in front of you?


DR. LOUBE:  The four pages?


MR. MILLAR:  That's right.


DR. LOUBE:  Go to question 12 -- 1 through 12.


MR. MILLAR:  Yes?


DR. LOUBE:  Some of them have sub-parts, but...


MR. MILLAR:  That's right.  I just wanted to make sure you had received the documents.


DR. LOUBE:  I have.  Can you hear me in the back?


MR. MILLAR:  Why don't we start at the top?  Question 1 is really just a clarification from page 13 of your report.  You note that the Staff discussion paper suggests a bandwidth of 400 basis points may be acceptable.  I just wanted to confirm with you that in the Board Staff paper, specifically the discussion was not about ESM.  It was about off-ramps, I believe?


DR. LOUBE:  That is correct.


MR. MILLAR:  Okay.  Thank you.  Let's move to question 2.  This refers to the chart, which I believe is on page 14, table 1 on page 14.


I don't know that I will read the...


[Cell phone rings]


MR. ROSENBERG:  Let me turn this off.


MR. MILLAR:  I will just go straight to the question.  

Table 1 is the reason that the average rate increase for the revenue per cap for year 2 is greater than the price cap because of declining average use.  

And then:  

Are there other reasons?  If so, please explain.


DR. LOUBE:  That's the reason, because the average use went down and the revenue cap is there.


MR. MILLAR:  Okay.  So that is the only reason.  There are no other reasons?


DR. LOUBE:  No.


MR. MILLAR:  Okay.  The second part of that question is:  

Why do you assume that revenue per customer growth and rate growth are 2 percent in both cases?


DR. LOUBE:  I assumed that in order to make the hypothetical even, so that the comparison of the incentives could be made.


MR. MILLAR:  Okay, thank you.  I guess the next question is related, but please explain how you perform the calculations without knowing the rate of customer growth.


DR. LOUBE:  Well, the rate of customer growth is not important in this calculation.  This calculation is trying to see what happens to the individual customer, okay, and then showing that individual customers are worse off under a revenue cap per customer.


MR. MILLAR:  Just to be clear, did you assume that the customer growth was zero, or is it...


DR. LOUBE:  It was not important to the example.  It could be anything.


MR. MILLAR:  Okay.  So it is not in the calculation?


DR. LOUBE:  It is not in the calculation.


MR. MILLAR:  Okay, that's helpful.  Thank you.


We will move to question 3 in this is page 19, I believe, of your report.  In I guess the first full paragraph or maybe -- regardless, on page 19, you quote PEG or you refer to PEG, and you say:

"As output variables, PEG uses the number of customers, the volume of gas purchased by residential and commercial customers, and the volume of gas purchased by all other customers.  These are not true outputs."


The first question is:  

Are these variables not billing determinants?  And if yes, why are they not legitimate output variables?


DR. LOUBE:  Yes, these variables are billing determinants, but what the gas distribution company does is it moves gas from a term that is used in the United States, from the city gate -- is that used in here in Canada also 

-- from the city gate to the customers.  So the output is the transport of the gas.


Now, that doesn't mean that the billing determinants are not important measurements, but what happens is is that we emphasize that which we can measure easy.  We know how to measure billing determinants, whether it is volume or customer.


We use them as a proxy for the actual service, which is the movement of the gas.


MR. MILLAR:  Okay.  How is the volume of gas moved different than the service of transportation of the gas?


DR. LOUBE:  That's the same thing.  You move the gas.  You move the volume.


It's not -- you're not selling the gas itself, but you are moving the gas.  So the volume is telling you, you know, if that was an output, that's measuring not the movement of the gas.


In other words, there is a difference between cubic metre of gas that a person purchases and a cubic metre of gas that moves a certain number of metres.


MR. MILLAR:  Right.


DR. LOUBE:  Okay.  And the output of this company is moving that cubic metre, moving the cubic metre of gas a certain number of metres.


MR. MILLAR:  Isn't that what the volume --


DR. LOUBE:  The volume is measured only in cubic metres.


MR. MILLAR:  But not the distance it travels; is that the distinction?


DR. LOUBE:  That's the distinction, yes.


MR. MILLAR:  Okay.  Thank you for that.


If we move to B, do you not consider the number of customers served to be an important driver of gas utility cost?


DR. LOUBE:  Yes, I do, and I never said that it should be eliminated from the analysis.


You have more customers.  You have more service pipe.  You have more meters, and that does affect the cost.


MR. MILLAR:  I guess C is probably a related question, but does your view of the importance of density preclude the use of customer and volume variables and the cost function?  

DR. LOUBE:  No.  But the important issue here was that the density was left out.  

MR. MILLAR:  Right. 

DR. LOUBE:  That's what I was emphasizing. 

MR. MILLAR:  Yes, okay.  Thank you.  

Why don't we move to question 4.  This refers to pages 20 and I think spilling over to 21.  Why don't I read the quote from your report.  

It says: 
"Instead of two volume variables EGD suggests that only one number variable should be used.  The regression results using only one volume variable did not produce the negative elasticities and thus with regard to the volume variable, the EGD equation provides better results.


Then the question is: 
PEG acknowledges the problem of negative elasticities but deals with it by eliminating certain interaction terms rather than consolidating the delivery volume variables.  Why is it more desirable to consolidate the delivery volumes as Enbridge has done? 


DR. LOUBE:  Well, first of all, as PEG realizes, the negative elasticities remain even when, okay, they're not as many, but they remain even when they use the two variables.  That's first.  

MR. MILLAR:  Hmm-hmm. 

DR. LOUBE:  Second, you're using a certain mathematical and statistical form that calls for interaction variables.  

When you eliminate those, then you actually are eliminating the way in which the form is supposedly applied in the econometric theory that uses a particular cost function.  

Then third, the colinearity which was the basis of the negative elasticities, which means that the independent variables, the various quantity variables are still there, okay.  And thus the problem, the underlying problem is not eliminated unless you get down to one quantity variable.  

MR. MILLAR:  Okay.  I am going to take your word for it.  

DR. LOUBE:  Okay.  

MR. MILLAR:  Thank you.  Let's move to question 5.  

DR. LOUBE:  Okay.  

MR. MILLAR:  This refers, I guess, to page 21 of your report.  Your report indicates: 
"PEG suggests that the econometric analysis should be the basis for the selection.  However, it develops different TFP estimates for Enbridge and Union.  This approach is not consistent with the purpose of incentive regulation.  The purpose is to create an index that matches the cost trend of a competitive industry.  The PEG approach can be upgraded to only include industry statistics."  

The question is, and there is a bit of a preamble to it:  
"Union has a sizeable gas transmission business whereas Enbridge does not.  The number of customers served by Union grows at a considerably slower rate than the customers served by Enbridge.  Is it fair to say that there are material differences in the businesses of the two companies?"  

I will ask them all and you can respond as you choose.  
"Is it your view that notwithstanding these differences, that the rates of the two companies should grow at the same rate?"  

DR. LOUBE:  It's not whether or not the companies grow at the same rate.  It is what is the standard that the companies are held to.  The standard that the companies are held to is the industry standard.  

Now, that's first.  

Second, and I guess the hypothetical that you have in B should also be addressed because it is the same issue. 

MR. MILLAR:  It's the same question so if you want to address that, that's fine.  

DR. LOUBE:  That's of same question.  That is, I want to address it in terms of what PEG did.  So that you understand what PEG did and why.  When it comes up with two different productivity numbers, okay, they aren't company productivity numbers but they are essentially most, most of it is an industry productivity number.  Because, first, they use the same industry trend.  

So you see the productivity according to PEG in its econometric analysis is the sum of an industry technology trend and an economies of scale trend.



In the numbers that PEG suggests, that industry technology trend is the exactly the same for both companies.  And that makes up, in Union's case, 84 percent of its productivity trend, and in Enbridge case it makes up about 69 percent of the productivity trend.  

So there already is a one industry standard.  

Then the second piece of it is the economies of scale and this is where PEG gets the two different numbers.  

What it does, it uses the same industry equation, getting the same coefficients, and inputs different values for the independent variables.  But that's the same industry.  The same coefficients are used for both companies.  

So they're using an industry standard and making a slight difference from the input values.


Third, all of the other variables don't affect those elasticities.  In other words, the variables that say it's a particular company, such as what percent of mains are cast iron.  That doesn't affect anything.  

Second, the dummy variable, urban core, that doesn't affect the output elasticity.  

Third, the percent of the -- the number of electric customers.  That doesn't affect anything.  

So the question really comes down to anybody can argue that a particular company is very special and should have something unique.  As opposed to arguing, saying we have an industry standard.  I could have, just to show you all of the differences.  You say what about trucks versus transmission.  I could have said, Let's look at the industry dummy and go to northeast United States.  In the northeastern United States the older cities all have district heating systems.  The west, the non-eastern systems -- cities, excuse me, do not have district heating companies.  So we could have made a difference that way.  

We could have made another -- do you know what a district heating system is?  Okay.  Right.  If you go to Washington DC and you stand in the middle of the United States mall and you look at all of those buildings, the Capitol, all of them, they're all heated with hot water and air-conditioning, with hot water, circulating cooling water.  

Now, that only is true among the older cities in the northeast.  That's not true among the western cities.  So I could have said, that's a difference.  Why didn't you take that into consideration?  

I could have made another difference.  Those that are connected to an electric company.  Why is that important?  Because electric companies, if you're independent of an electric company, then the electric company and the gas company are more likely to compete for heating services.  

When you are owned by the same company, the electric company and the gas company are more likely not to compete for the same customers.  

Well, what is -- why is that a problem?  In the 1950s and 1960s the electric companies were pushing all electric heat, baseboard heat.  In the 1970s and 1980s, the electric companies were pushing heat pumps, okay, as a way to heat your house either all electrically or to take the shoulder, okay.  November -- October, November, March and April with your heat pump and only use your gas in the middle of the winter.  

So there are -- what I am getting to is that there are many different ways to subdivide and to cut the baby up and cut the apple pie up or whatever you want to call it, and say, oh, this is particular to these companies.  But what we have to do is move back a step and say, Well what did PEG do.  They took a whole industry and ran an equation, okay.  That equation is what is meaningful.  And that is what drives their estimates and that's why I don't think that these, looking at particulars such as the transmission is as important as looking at the whole industry.  

We could have, you know, why didn't we take Union and split it up?  Or, alternatively, we could have said, well, why don't we see what percent of your sales are to residential versus to commercial?  

All of these things we could have done.  But we didn't.  PEG didn't.  Enbridge didn't.  And I didn't.  What we have to have, though, is a standard by which the company operates against and that standard is the industry's standard.  And that's why I don't think that this is an important criticism of what I did.  

MR. MILLAR:  Okay.  Thank you for that.  

I guess we can move to 6 because I think you tie it in -- you included your answer part B to question 5 in that.  This refers to page 23 of your report, where you state:

"Thus the choice of weights and starting points determines the productivity differential." 


And we were wondering if you had a preference in terms of starting points and/or weights.


DR. LOUBE:  Not at this point, no.  I just used the difference to show how there can be a variety of productivities and productivity differentials determined.


MR. MILLAR:  Okay, thank you.


Question 7, page 24 of your report now.  On page 24 you discuss how PEG chooses sample periods for IPD calculation that have similar rate-of-return on the start and end dates.  Enbridge, in contrast, uses the same period that is used for the TFP calculations.


So the first question is:  

What approach do you prefer?


DR. LOUBE:  Again, like I answered the last question, at this time I have not made a definitive statement as to which is better, and I don't know which is better at this point.


What I'm saying is that given that you have all of these choices, you have a full range of end points that you can end to and this makes it very hard to choose the proper productivity differential.


MR. MILLAR:  Okay, but you don't have -- at this point, you don't have a preference?


DR. LOUBE:  No.


MR. MILLAR:  Thank you.  Part B of question 7:  

If the 2000 and 2005 period is the longest period for which TFP data are available, but also features unusual input price trends, does it still make sense to use it in the IPD calculation?


DR. LOUBE:  Well, "unusual" is a very loaded word.  What is unusual might be a high variance.  Now, there was a high variance.  Now, we don't know if that is unusual.  It could be usual to be a high variance in that variable.


MR. MILLAR:  Let's pretend -- as a hypothetical, then, let's imagine there was something that you could accept as unusual or looked to be unusual.  Would you be able to give an answer on that basis?


DR. LOUBE:  I would have to wait to see what the unusual was.


MR. MILLAR:  Okay.  So you're saying in the present case you're not certain there is anything unusual?


DR. LOUBE:  No.  I know there is a high variance.  I don't know if it is unusual.


MR. MILLAR:  So you can't answer the question?  Okay, thank you.


Moving to question 8.  We're talking about table 2.  That's on page 25.  

"In table 2, you present a wide range of X factors for Enbridge and Union.  X factors in excess of inflation are achieved only for the cost of service weights, high, high scenarios.  In these scenarios, the chief difference is the input price differential calculation, 2.97 for Enbridge and 1.44 for Union."


Can you please tell us where those numbers came from, the 1.44 and the 2.97?


DR. LOUBE:  Yes.  I would like to answer this, if you don't mind, simultaneously with Union's first question.  I will give --


MR. MILLAR:  Okay.


DR. LOUBE:  -- in which they asked, you know, what is the source of my numbers in this table 2.


MR. MILLAR:  Okay.


MR. PENNY:  I was going to pipe up and say might as well do it.  They just asked for one calculation.  They wanted a backdrop for them all.


DR. LOUBE:  Yes.  This will be sort of a two-part answer.  I will undertake to give you an Excel worksheet that will have my work papers and it will be annotated so you will know exactly where each piece came from.  You will know how I calculated each.  I don't think I can go through the calculations at this meeting, at this time, but I do have the work papers.  I have a work paper that I need to annotate so you can understand it, okay.


MR. MILLAR:  Mr. Penny, that is sufficient for you, I assume?


MR. PENNY:  Yes.


MR. MILLAR:  We will take that as undertaking JTD, D being the fourth letter in the alphabet, because this is the fourth day, JTD.1.

UNDERTAKING NO. JTD.1:  DR. LOUBE TO PROVIDE EXCEL SPREADSHEET

MR. MILLAR:  Okay, thank you for that.  Move to question 9.  This relates to pages 25 and 26.  Reading from your report: 

"The proposed start points include 1998, 1999 and 2000 with higher X factors associated with the 2000 start point.  With regard to the weighting scheme, it is necessary to determine if the weights should be the first year of series, the last year of series or move annually."


We're just wondering if you have a preference in terms of starting points and/or weights.


DR. LOUBE:  No.  It's the same answer I gave you before.


MR. MILLAR:  Thank you.


Question 10, moving forward to page 27 of your report.  This relates to the service group price cap indices.  You state that:

"I recommend that the OEB postpone reviewing the issue of relative service group prices in this proceeding."


And our first question is:  If the impact of declining average use should not be differentiated by customer rate class, please explain how the impact of declining average should be applied.


DR. LOUBE:  What I said was that the impact on rate classes of using the same distribution facility should be assigned on the basis of relative benefit of using that distribution system.  That is different -- that's a different way of assigning cost.


The relative usage cost that PEG is suggesting, through their analysis, is dependent upon the ability of determining the impact of the cost of that joint use facility on each individual customer group.  If you cannot determine that impact, then the assignment basis that PEG used cannot be done.


Now, I think Mr. Bernstein from Enbridge and Union's testimony also said the same thing.  So we're -- all three of us are saying that the usage factor that was determined by PEG doesn't work.


MR. MILLAR:  Yes.


DR. LOUBE:  Then I said there is an alternative way of assigning a joint use facility, and that alternative way of assigning the joint use facility is based upon the relative benefit from sharing in the joint use facility.


MR. MILLAR:  Is there a clear explanation in your report of exactly how that is done?  Could the Board -- let's say the Board was inclined to accept your evidence in this regard.  Would it need anything more to do this, or are further studies --


DR. LOUBE:  I did not give an example of how it is done in my report.  I just mentioned that it could be done.  I mentioned that neither Union nor Enbridge had supported the PEG methodology because of the ability to assign to individual service class is not there, and I said I think it should be postponed until all of the parties interested in examining this issue should have time to put forward an alternative method.


MR. MILLAR:  Would it be helpful or possible for you to provide examples of how that would be done?  I don't know if that is a simple or a difficult thing, but it might be of assistance to the Board to see an example of how this would work.


DR. LOUBE:  If you want that, sure.


MR. MILLAR:  Let's call that undertaking JTD.2, and that is to provide an example of how -- actually, Dr. Loube perhaps you could give me the wording on that, exactly what -- you are going to provide an example of how you split the -- how the relative benefit calculation...


DR. LOUBE:  How the relative benefit calculation can be performed.

UNDERTAKING NO. JTD.2:  DR. LOUBE TO PROVIDE EXAMPLE OF HOW THE RELATIVE BENEFIT CALCULATION CAN BE PERFORMED.


MR. MILLAR:  Thank you.


Okay, thank you.  I'll ask question 10(b), as well, although you may have partially answered it.  It states:

"Suppose that rates for services to non-residential customers were essentially unchanged over the last five years, whereas those for residential customers rose by 1 to 2 percent.  Does it make sense to allow the same rate escalation for both groups of customers in this case?"


DR. LOUBE:  What I'm saying is that the cost is the joint use cost and you have to figure out a way to allocate it.  The same answer to (b) as to (a).


MR. MILLAR:  You think the relative benefit calculation would be the preferable way to deal with it?


DR. LOUBE:  Yes, hmm-hmm.


MR. MILLAR:  Okay, thank you.


Question 11, we're now on to page 28 of your report.  I pick up in mid-sentence here.  It says:   

"With the exception that the costs are dumped into customers automatically under incentive regulation, where cost of service regulation at least requires a cost prudence review before the consumer becomes responsible for funding a particular expenditure.  

The question is:

"Please confirm that during the annual rate-setting process, Enbridge and Union are proposing that the Board does review both X and Z factor amounts for prudence."


MR. PENNY:  I think he meant Y.

MR. LOUBE:  Yeah, he did.

MR. MILLAR:  X and Y, my mistake.

MR. LOUBE:  I already have it changed on the page.

MR. MILLAR:  A step ahead.

MR. LOUBE:  Yeah, my problem with that is that the benefit of an incentive is to reduce regulatory costs.  That is one of the incentives.  And the more Y factors and Z factors you have, the more -- and that you might have in these mini rate cases going on annually.  So if you have a mini rate case annually, what is the benefit towards moving towards the incentive rate program, especially when you have a company like Union that doesn't have annual rate cases.  

So that, yes, if there is that annual setting, there could be a partial prudence finding, the direct answer to your question.  

However, when you look at one issue by itself, and you don't look at the entire company's books at the same time, you're never quite sure you've got that one issue straight.  

MR. MILLAR:  Right.  

DR. LOUBE:  Okay.  And, therefore, the little mini rate cases might turn into being really big ones.  So I don't think you, you know, the benefit of reduced regulatory process is not going to occur.  

MR. MILLAR:  Okay.  Well I think that is fair enough.  I don't think I dispute you that the fewer Y factors the better.  But I guess the point was that Y factor or Z factor amounts aren't automatically dumped on ratepayers; would you agree with that?


DR. LOUBE:  That's right, yes, you're correct.  

MR. MILLAR:  Okay.  Question 12 and the final question, still on page 28.  You say:  
"I recommend that the incentive plan should last for four years.  This length allows companies to react to the incentives established by the plans."


The question is:

"Do five-year plans also allow companies to react to the incentives?"


DR. LOUBE:  Again I would like to tie this to Union's question 3, if I could. 

MR. PENNY:  Sure.  I think our question was a little broader, and I would be happy to have your complete answer to this.  

DR. LOUBE:  Sure.  Do you see -- 

MR. MILLAR:  In fact I don't have Union's in front of me, but please feel free if Mr. Penny --  

MR. PENNY:  We asked for all justifications that 
Dr. Loube had for his four-year.  

MR. MILLAR:  Mr. Penny, if you wish to follow up, please feel free to.  I think you're next anyway and this is my last question, so please go ahead.  

DR. LOUBE:  Thank you.  It is a judgment question as to how long to have a plan.  

The incentive to reduce cost is obviously enhanced the longer the plan works, because you can determine more in different kinds of cost savings.  That's the benefit of a longer plan.  

You also have a cost of a longer plan.  The cost of the longer plan is that the X factor becomes out of date, and with an out-of-date X factor, the company is running against the incorrect incentive.  

Why is the X factor out of date?  Because it was set at the beginning of the plan.  The X factor, as you know, includes the productivity differential, the input price differential, and in the way PEG put it together, it includes what is allegedly an average use factor.  

Now, the average use factor that PEG has, if you look at the Fuss and Denny and Waverman paper that supports most of PEG's theoretical positions, it is not the difference between a quantity-weighted -- I mean a revenue-weighted quantity and an elasticity-weighted quantity.  Output index is not an average use factor.  Instead, it is the difference between price and marginal cost, such that if we were in pure competition with price equalling marginal costs, those two factors, those two inputs, the quantity weighted -- excuse me.  The revenue-weighted quantity index would equal the elasticity-weighted quantity index.  

So it is really an efficiency, an allocative efficiency factor.  Not an average use factor.  But PEG has used it as an average use factor. 

No matter what, all of those things, those three factors that sum to the X factor are out of date some time.  The further you go down the plan, the more out of date the X factor is, the more you are giving the company the wrong incentive.

 So you have a trade-off between the cost of having a long plan and a benefit of having a long plan and it was my professional judgment that four years would be an appropriate time to reset that X factor.  Even if you don't rebase at the end of four years you have to reset the X factor to make sure the incentive structure is there properly. 

MR. MILLAR:  Not necessarily the entire plan ends after four years but possibly just the X factor has to be recalculated; that is a possibility?  

DR. LOUBE:  At the end of four year it is open to the Board to decide what to do.  The question is, what are 
we -- when is the Board going to take another look?  

There are several reasons.  One is the rebasing phenomena, and the other is that the X factor gets old and stale.  And I think that four years is the appropriate time to take another look.  

MR. MILLAR:  Okay, thank you for that.  Mr. Penny may have additional questions, but that is all I have, so I will turn it over to him, unless there is someone else who wanted -- Mr. Warren or Mr. Penny wanted people sort of in favour of CCC to go first.  I'm not sure if anyone here has questions that falls into that category?  

MR. THOMPSON:  Mr. Penny probably thinks mine will, so maybe I should ask them unless he wants to go first.  

MR. PENNY:  Go ahead.  
Questions by Mr. Thompson


MR. THOMPSON:  I apologize that I couldn't get these to you in writing, Dr. Loube, but there just wasn't enough hours in the day.  I wasn't going to stay up another night to do this.  

So, if what I ask, if you require time to answer, I am happy with an undertaking to respond in writing.  

The first question I have pertains to page 3 and you were having, I think, some discussion with this with Mr. Millar.  It's about two-thirds of the way down.  You say you examined the PEG proposal to establish service group price cap indices.  
"I show how the PEG method is flawed because it assumes that it is possible to determine service-specific growth rates."


My first question is, when you use the phrase "service specific," are you talking there about rate classes?  

DR. LOUBE:  Yes.  

MR. THOMPSON:  Could you explain why you say it's not possible to determine rate class growth rates?  

DR. LOUBE:  Because for the same reason that 

Dr. Bernstein and Union did, because the service-specific rates are dependent upon the ability to assign the costs and the productivity to the services, and that is dependent upon the ability to take this joint-use facility and assign it.  And as long as the joint use facility cannot be assigned then these productivity growth rates cannot be assigned.  

MR. THOMPSON:  Okay, thanks.  I will come to the joint-use point a little bit later in your paper.  

The next question pertains to pages, really, 8 and following and it pertains to footnotes.  My question is, can you provide electronically or give us the coordinates, copies of the materials referenced in footnotes 4, 5, 6, 11, 12, 13, 15, 17, 18, 22, 23, and 30.


DR. LOUBE:  That's quite a list.  Let me go footnote 4, yes.  Footnote 5, yes.  

What was the next one that you wanted?  

MR. THOMPSON:  Six.  Footnote 6 on page 9. 

MR. PENNY:  That is just telling you what an acronym is. 

DR. LOUBE:  You notice all of those people for affordable and local long distance services included no consumer representatives. 

MR. THOMPSON:  So that is not a reference to any material.  That is a definition. 

DR. LOUBE:  That is a definition of the -- when I give you 5, you will get what you want in 6.  

MR. THOMPSON:  Okay.  The next one was on page 10, 11.  

DR. LOUBE:  Yes.  

MR. THOMPSON:  Next one, same page, 12.  

MR. WARREN:  Page 11 -- 

DR. LOUBE:  Page 10, footnote 11. 

MR. WARREN:  What is it you want us to produce?  It has the reference point there.


DR. LOUBE:  This is --


MR. PENNY:  The fancy new computer you have there, you can type in the URL and --


MR. THOMPSON:  You could flip it to us electronically or I could have somebody in my office type this.


[Laughter]


DR. LOUBE:  I'm sure I could even fax it to you if you want that.


MR. THOMPSON:  No, no, no, flip it to me.  I can download.


[Laughter]


MR. THOMPSON:  I'm progressing, slowly.  So I will take that as a "yes" despite the shots from my colleagues.


Number 12?


DR. LOUBE:  Twelve, I would have to give you the public version that was released in a public and a proprietary version.


MR. THOMPSON:  What's this footnote referring to?


DR. LOUBE:  Testimony on behalf of the main office of public advocate.


MR. THOMPSON:  Is it public or private?


DR. LOUBE:  There are two versions of that testimony.


MR. THOMPSON:  Okay.  Well, what version is it referring to?  The public?


DR. LOUBE:  That's the one you will get.


MR. THOMPSON:  Yes.  But my question is:  Is that what you --


DR. LOUBE:  Yes, you can see this particular set of numbers in the public testimony.


MR. THOMPSON:  All right, thanks.


Then number 13?


DR. LOUBE:  Yes.


MR. THOMPSON:  Thank you.


DR. LOUBE:  Fourteen --


MR. THOMPSON:  Fifteen was the next one on the next page.


DR. LOUBE:  That's the text.  I don't think I will be able to provide you that.


MR. THOMPSON:  No.  Just the references that you are relying on.  Are there excerpts from that text that you --


DR. LOUBE:  I will give you page numbers.


MR. THOMPSON:  Thank you.


MR. WARREN:  Can I just interject and ask if Borden Ladner Gervais has a library?


MR. THOMPSON:  Listen, buddy...


[Laughter]


MR. THOMPSON:  The next one was 17, again, just the page references.  I assume this is a text, as well?  

Page 14.


DR. LOUBE:  Oh, no wonder.  I took it out.


MR. THOMPSON:  Number 17.


DR. LOUBE:  I don't know if I have that one electronically, because I have the entire book.


MR. THOMPSON:  All right.  If you could fax us the pages that you are relying on?


DR. LOUBE:  Okay.  I could copy the article and fax it.  I don't know if the copyright people would mind.  Yes.


MR. THOMPSON:  All right.  Well, if you would do --


DR. LOUBE:  Yes, I will do as best I can.


MR. THOMPSON:  Thank you.  Then the next one was number 18.


DR. LOUBE:  Yes.  That is publicly available.


MR. THOMPSON:  Again, we just want the excerpts that you're relying on.


Then the next one is page 17, number 22.


DR. LOUBE:  Okay.


MR. THOMPSON:  And then the next one was an article that you wrote, I think.  It's at page 20, number 23.


DR. LOUBE:  I wrote my dissertation before I had a computer.  

I don't have an electronic copy of my dissertation.  The person I hired to type it had it on mag cards, and that has been a long time.


I will try to photocopy a short section of it and give you that.


MR. THOMPSON:  Okay, thank you.


Then the last one was number 30, which is on -- again, something else that you wrote.  It's at page 27.


DR. LOUBE:  Yes, I can get -- yes.  One way or another, I will get you the article.


MR. THOMPSON:  Great.  Thank you.


MR. MILLAR:  We should give this an undertaking number.  I propose to give it a single undertaking number.  

The undertaking is to provide the -- I guess the references or the papers listed in the following footnotes.  The footnotes are 4, 5, 11, 12, 13, 15, 17, 18, 22, 23 and 30.

UNDERTAKING NO. JTD.3:  DR. LOUBE TO PROVIDE REFERENCES LISTED IN FOOTNOTES 4, 5, 11, 12, 13, 15, 17, 18, 22, 23 AND 30.


MR. MILLAR:  Is that all of them, Mr. Thompson?


MR. THOMPSON:  Yes.  Thank you.


My next question is with respect to page 10, where in the second last paragraph on the page you say:  

"Clearly price cap regulation in the telecom sector has been associated with excessive returns."  


Then you go on and cite some text references.


My question is:  

"Is 'excessiveness in returns' defined in any of the authorities?  If so, can you tell us how it is defined?"


DR. LOUBE:  In particular, with the British telecom, Oftel decided to raise the X factor and lower the return.  By doing so, it is my assumption they thought that the return was too high and therefore excessive.


In the case of the FCC, the FCC has not chosen to do anything like that, but I give you my schedule 3, which shows that in the last couple of years, Quest earned 42 percent in 2006, 32 percent in 2005, and 

28 percent in 2004.


AT&T earned 26 in 2006, 25 in 2005, and 21 in 2004.


Verizon is not doing quite as well.  It is earning only 21 in 2006, 19 in 2005 and 15 in 2004.


MR. THOMPSON:  All right.


DR. LOUBE:  I used the term "excessive" to describe those returns.


MR. THOMPSON:  Thank you.  My next question is with respect to page 12, where you are giving an example in the first full paragraph about, as I understand it, how an earnings sharing mechanism creates an incentive to invest.


Is that what that example is attempting to do?


DR. LOUBE:  Yes.  Any time that you can earn greater profit by having more investment, there is an incentive to invest.


MR. THOMPSON:  All right.  So I just want to understand and clarify the example.  Let me just tell you what I understand you to be saying.  You have a scenario where the return, the allowed return, is 8 percent and the net investment is a million, and then you say thus the allowed return is -- sorry.


You assume that the company is just earning its allowed return with 500,000 of expenses.


DR. LOUBE:  Yes.


MR. THOMPSON:  And 500 of revenue and expenses of 420.  So the earnings are $80,000?


DR. LOUBE:  Correct.


MR. THOMPSON:  Okay.  And 80 is 8 percent of a million; right? 


DR. LOUBE:  Right.


MR. THOMPSON:  Then you go:  

"Assume that the regulator adopts an ESM that allows the company to earn 10 percent.  In response to the incentive to reduce costs, the company reduces costs by 40,000 and so the earnings go up from 80 to 120."

And that's a 12 percent return on the million?


DR. LOUBE:  Correct.


MR. THOMPSON:  Then you say if earnings sharing kicks in at ten, then there's a split of the increased 40, 20/20.


DR. LOUBE:  Right.  And that is one of the reasons why the companies have argued against having an earnings sharing, because there would be -- and PEG -- I don't know if PEG did.  No, they didn't even discuss it, but the companies did.  


And, therefore, they think that the earnings sharing would dampen the drive to reduce expenses, okay.  So that they would only reduce expenses by 20,000 instead of reducing them by the entire 40,000.


MR. THOMPSON:  Okay.  Then where I got lost a little bit, but I think I may understand, you say:

"This conclusion is only correct at first glance, because the company has the ability to retain the entire cost reduction if it increases its net investment."


So your next case is it has increased its net investment by $200,000.  When you say "net investment" you mean, what?  Costs less something?


DR. LOUBE:  I am speaking in terms of rate base.  Is that a term --


MR. THOMPSON:  Yes.  All right.


DR. LOUBE:  -- used in Canada?


MR. THOMPSON:  So then we have, in this scenario, net investment of 1,200,000.  But you continue to assume that the revenues are 500,000 and the costs have been reduced to 380.  

DR. LOUBE:  Yes.  Reduce the cost by the $40,000. 

MR. THOMPSON:  So the revenue and cost assumptions don't change with the increase in net investment, in your example?  

DR. LOUBE:  In my example, that's correct.  

MR. THOMPSON:  Okay.  That's where I got a bit lost.  Thanks.  

Now, on page 13, you are talking about a bandwidth above and below the allowed returns.  

DR. LOUBE:  Yes.  

MR. THOMPSON:  In the first full paragraph.  You are criticizing this width of 400 basis points and you say:   
"However because that bandwidth would include returns that are lower than the current bond rates, the suggested bandwidth is excessive and may hinder the company's ability to invest." 

My question is, when you are looking at it from that perspective, are you looking at what the utility would be prepared to tolerate below the allowed return as some assistance in what might be appropriate above?  

DR. LOUBE:  I'm looking at it in terms of what the Board would be willing to say is a reasonable distance around an allowed return.  

MR. THOMPSON:  Thank you.  Now, the chart at page 14, Mr. Millar asked you some questions about this.  I think you indicated that your price cap assumption doesn't include an AU adjustment, average-use adjustment.  Is that what you said to him, when that was the only explanation for the difference?  

DR. LOUBE:  No.  

MR. THOMPSON:  No?  

DR. LOUBE:  Oh, yes.  Not an average-use factor but an average-use reduction, right.  

MR. THOMPSON:  If it did -- 

DR. LOUBE:  No, no, no, no.  You're confusing it.  

You notice that, look at the table.  The same volumes -- look at the volume column.  Okay.  The volume column is 3,000 in the first year.  2,970 in the second year.  For the revenue example.  

MR. THOMPSON:  Right. 

DR. LOUBE:  The first two rows.  Look down the second two rows.  Okay.  Same thing happens.  You get a reduction in average use in both examples.  

The problem is that in the first two rows, revenue is allowed to recover additional and raise the rates to get back to the revenue number.  Okay.  

Under the price cap, you aren't allowed to raise rates to get back to a revenue number.  You have to get to the price cap goal.  

So it is the fact that the revenue is allowed to be recovered, it's the difference between the first two lines and the last two lines, even though I have the same reduction in average use in both examples.  

MR. THOMPSON:  Right.  I see that.  I'm trying to understand what you said to Mr. Millar.  Are you saying that under the revenue per customer cap, any decline in average uses is picked up automatically -- 

DR. LOUBE:  Through -- through enhanced rates.  

MR. THOMPSON:  All right.  And my question is, so if the price cap could be adjusted by average use in some way, would you end up at the same point?  

DR. LOUBE:  You're not adjusting it.  The price cap is not adjusted in the same manner.


Price cap is saying, this is what your average cost should look like.  The trend in the average cost.  Not the trend in the total cost.


MR. THOMPSON:  Okay, thank you.  Next was at page 16 and it's just trying to understand the distinction between what you call price indexes and price cap and a price cap index.


DR. LOUBE:  Okay.  The price cap is a measure of the change in the rates.  The price cap index is this extended formula that we have that's some inflation which, for the most, part everybody agrees is GDPIPI-FTD minus an X factor.  That's the PCI, the price cap index.


The price index is the measure of the rate increase of the Union or Enbridge and thus a price cap index is being justified because it is providing more or less impact on the customer than the historical price index.  And that's what the comparison is being made.  It's saying, my price cap formula is reasonable because the end result isn’t going to make customers better off.  That's the argument that both Enbridge and PEG are making.  

The problem is that Enbridge index is not, price index is not an index, and thus we don't know from their comparison whether or not customers are better off.  

MR. THOMPSON:  Thank you.  

All right.  Page 17, in the first paragraph there you are talking about Enbridge's price index.  

DR. LOUBE:  Yes.  

MR. THOMPSON:  You are saying it's calculated as the total revenue divided by the total volume.  

DR. LOUBE:  Correct.  

MR. THOMPSON:  Then a little further down, you say:

"Because the EGD index is not related to all of its many rates and changes in any of those rates would affect revenue, the index does not fulfil its purpose of being a guide to the reasonableness of its revenue index formula."


Would it make a difference if these numbers were calculated on a rate-class basis?  

DR. LOUBE:  No, because each rate class has multiple rates in it.  

You need to look at all of the rates.  Some rate classes have demand charges, fixed or customer charges, along with the volume charges.  

MR. THOMPSON:  Thanks.  

DR. LOUBE:  You're welcome.  

MR. THOMPSON:  Now, at page 17, you say, you determined that the EGD prices increased at an annual rate of 1.13 percent.  Can you provide us with a document that shows us how you determined that?  

DR. LOUBE:  Yes.  That's another undertaking.  

MR. MILLAR:  JTD.4.  Mr. Thompson, would you repeat the undertaking, please.  

MR. THOMPSON:  Yes, to provide a written response showing how Dr. Loube determined that the EG prices increased at an annual rate of 1.13 percent.  
UNDERTAKING NO. JTD.4:  DR. LOUBE TO PROVIDE A WRITTEN RESPONSE SHOWING HOW HE DETERMINED THAT THE EGD PRICES INCREASED AT AN ANNUAL RATE OF 1.13 PERCENT

MR. THOMPSON:  Thanks.  Now I am over to 25.  I guess just clarifying the spreads in these tables.  So on the COS weights, I am looking at the spread between the 297 and the 0.35, which I make to be 262 basis points.  

Then you can do the same thing for each of the other categories that you have there.  The low end of the scale is GD weights for Union of between 1.51 and 0.72, so that is a spread of 79 basis points.  So on the low end you have a 79-basis-point spread and 262 (sic) at the upper end.


Is that what we should be looking at when you say at the upper end the spread is greater than inflation, or is it something else?


DR. LOUBE:  The X factor of 297 and the X factor of 209, that's the upper end.


MR. THOMPSON:  Okay.  So it is not the spreads?  It's the X factor?


DR. LOUBE:  Yes.  And I believe the number we were using for the inflation factor was approximately 1.86.


MR. THOMPSON:  Yes.  I have amended I think up to 2.04 in some subsequent filing.


DR. LOUBE:  Again, you're starting an NP period.  If you wait another year or six months, you're going to get a different one.


MR. THOMPSON:  Right.  Page 26, this relates to your service group PCIs discussion.  Mr. Millar asked you some questions there.  My first question of you, Dr. Loube:  Is there a declining average use problem, in your view?


DR. LOUBE:  There is a declining average use, that's clear.


You also have an increase in the number of customers.  That's also clear, which is one of the reasons why northeast peer group analysis doesn't make that much sense to me.


All I'm saying here in these paragraphs is that the average use factor relationship used by PEG does not support the service class PCIs.


MR. THOMPSON:  I understand that.  Is the declining use phenomenon, if I can call it that, in your view, confined to the residential rate class and the small general service?


DR. LOUBE:  I think that there were some others that had declining average use.  If I went, um..., customer class by customer class.


MR. THOMPSON:  Well, the smaller rate classes, is that...


DR. LOUBE:  The ones that had fewer customers, that's why I'm saying smaller rate classes.


MR. THOMPSON:  No, no.  I meant the fixed rate, the residential -- excluding the large volume people that I represent.  My understanding was that this problem is primarily the residential and general-service categories.


DR. LOUBE:  Yes.  And for one of the carriers, I noted - and I will find it and give it to you - that one of the other -- in other words -- let me put it this way.


When I went through PEG's work papers and it had all of the service classes, not just rate group 1 and 6, but it had all of them laid out, more than just the residential and small general commercial, there was a couple of the others that also went down as far as average use is concerned, and I will provide you my work paper that shows that.


The second is that in the residential you have the number of customers increasing significantly to offset the average use going down.  And, thus, looking at average use by itself is not reasonable.  You have to look at it in terms of the increase in the number of customers, also.


MR. THOMPSON:  Okay.


MR. MILLAR:  Was that a fresh undertaking?


DR. LOUBE:  Yes.  I think so, yes.


MR. MILLAR:  That is JTD.5, and that is to provide the working papers showing which?


DR. LOUBE:  Average use by service class.


MR. MILLAR:  Thank you.

UNDERTAKING NO. JTD.5:  DR. LOUBE TO PROVIDE WORKING PAPERS SHOWING AVERAGE USE BY SERVICE CLASS.


MR. THOMPSON:  Thanks.  Now, you have described to 

Mr. Millar why you say the PEG approach to this service group issue is deficient.


My understanding was that Union had put forth somewhat of a different approach than PEG.  Do you know what Union's approach is, and, if you do, what's your observation on that approach?


DR. LOUBE:  My observation is that Union's approach does not start from or use the PEG methodology, but ends up exactly in the same place.


So that any theoretical defence of it must be the same defence that PEG had.  Therefore, Union's approach, I would say, should not be done.


MR. THOMPSON:  Okay.  Now, you're going to -- well, just turning to this joint use point that you were discussing with Mr. Millar, you called it a relative benefit calculation.


Is this something different than cost causation?


DR. LOUBE:  It's an alternative way to go to cost causation, and I would hope you would wait until you see the written response to that and ask me any follow-ups at that time.


MR. THOMPSON:  Sorry.  So relative benefit is one way.  Cost causation is another way?


DR. LOUBE:  Relative benefits assign the costs in a particular way, so you can see the cost causation going through the benefit factors.


When I explain it all and give you a written example, you will be able to see it.


MR. THOMPSON:  Okay.  Now, is there any other approach that might be used, such as calculating some sort of dollar amount each year at the time the DSM Y factor is calculated, and then recovering that appropriately?


DR. LOUBE:  I don't understand your question.  Could you please restate it?


MR. THOMPSON:  Well, this is think tank stuff, brainstorming, okay.  I don't have any concepts.


DR. LOUBE:  I thought so.


MR. THOMPSON:  But we seem to be able to calculate a DSM cost on a yearly basis, and that's for stimulating reductions in average uses.


They use the benefits, deciding all of that stuff.  My simple mind says, Well, if you can do that kind of a calculation, can you not add to it some sort of average use decline calculation on an annual basis, dollars, and address the problem in that fashion?  If it doesn't work, just tell me.


DR. LOUBE:  I don't think it will work, because you have to look at the other factors affecting the revenue, and the other factor affecting it is growth and customer base.


MR. THOMPSON:  There's been some evidence filed by 

Dr. Cronin.  I don't know if you have had a chance to review that.


DR. LOUBE:  Not thoroughly, but I will take a shot.


MR. THOMPSON:  All right.  Well, what I would wonder if you wouldn't mind providing by way of undertaking is just a list of areas of his evidence with which you agree and those with which you disagree.


DR. LOUBE:  Have you got that?


MR. MILLAR:  Yes.  If you're willing to take the undertaking.


DR. LOUBE:  Yes.


MR. MILLAR:  It's JTD.6, and that is to provide a written summary, I guess, of the areas in which Dr. Loube agrees with Dr. Cronin and the areas he disagrees with 

Dr. Cronin.


MR. WARREN:  Can I just, in defence of our expert, ask Mr. Thompson how detailed an explanation, because it could be a paper that would be replicate Cronin's evidence in his lengthy detail.  Do you want a high level or low level?


MR. THOMPSON:  Twenty-five words or less, bullet points.

UNDERTAKING NO. JTD.6:  DR. LOUBE TO PROVIDE WRITTEN SUMMARY OF AREAS IN WHICH HE AGREES AND DISAGREES WITH DR. CRONIN'S REPORT.


MR. WARREN:  We will send that to you electronically so you can upload it.


[Laughter]


MR. THOMPSON:  Separate e-mails for each bullet point, though.


[Laughter]


MR. THOMPSON:  My last question just deals with recent precedent decision.  When I say "recent", maybe in the last five years or so, Dr. Loube.


What I would like you -- do you know of any recent precedent decisions with either a price cap or revenue cap for Canadian gas distributors?  If so, can you just list them for us, so we can access them?  You don't know of any?


DR. LOUBE:  I'm more familiar with the US system.


MR. THOMPSON:  Okay.  So then on the US side, again, I am confining this to US gas distributors -- 


DR. LOUBE:  Hmm-hmm.


MR. THOMPSON:  -- either price cap or revenue cap.  Is there a body of precedent out there that you could just list for us that we could access?


DR. LOUBE:  I will take it as an undertaking.


MR. THOMPSON:  Great.  Thanks.


MR. MILLAR:  That is JTD.7.  Mr. Thompson, could you restate the undertaking?  

MR. THOMPSON:  Yes.  Dr. Loube has, I believe, undertaken to give us a list of recent precedent decisions pertaining to US gas distributors where the regulators addressed either price cap or revenue cap incentive regulation models.  

MR. MILLAR:  Thank you.  
UNDERTAKING NO. JTD.7:  DR. LOUBE TO PROVIDE A LIST OF RECENT PRECEDENT DECISIONS PERTAINING TO U.S. GAS DISTRIBUTORS WHERE THE REGULATORS ADDRESSED EITHER PRICE CAP OR REVENUE CAP INCENTIVE REGULATION MODELS

MR. THOMPSON:  Does that capture it, Dr. Loube?  

MR. WARREN:  The definition of "recent" is five years?  

MR. THOMPSON:  Yes.  

MR. WARREN:  Okay.  

MR. THOMPSON:  Yes.  

MS. GIRVAN:  Best efforts.  

MR. THOMPSON:  Best efforts.  That's fine.  

Those are my questions.  

MR. ROSENBERG:  Thank you.  Who will be next?  These are friendly, friendly people.  There are no more friends.  Well, you guys have to work harder.  

Well, if you don't consider yourself a friend, who would like to ask questions next?  I don't see anybody 

MR. PENNY:  I am happy to go.  

MR. ROSENBERG:  Mr. Penny.  
Questions by Mr. Penny

MR. PENNY:  Let me just follow up, while it is fresh in my mind, on a couple of questions that just came up, that Mr. Thompson's last question about gas utility incentive regulation.  

Sitting here today, are you familiar with the particulars of any incentive regulation mechanism in respect of a US natural gas utility?  

DR. LOUBE:  Yes.  

MR. PENNY:  And did you have regard to any of those precedents, as Mr. Thompson called them, in the preparation of the report that you have submitted in these proceedings?  

DR. LOUBE:  Yes.  

MR. PENNY:  You were also asked about what you meant -- sorry, I want to ask you about what you meant when you said -- sorry, this is with respect to the service category issue.  

DR. LOUBE:  Yes.  

MR. PENNY:  I want to ask you about what you meant when you said that Union ends up in the same place as PEG.  

First of all, where do you understand -- I view it as four questions, I guess.  Where do you understand PEG ends up?  And what is your understanding of how it gets there?  And then, where do you understand Union ends up and what is your understanding of how Union gets there on this service category issue?  

DR. LOUBE:  PEG assigns relative average use declines to the residential class of customers, okay.  It gets there through its methodology, which it discusses in its appendices, and which I am not going to go through right now.  But in which both your testimony and Dr. Bernstein's testimony is incorrect, because the inability to assign those costs.  

With yours, what you did was that you assigned all of the average use factor impact in the general equation to the service in general commercial groups.  

I don't have your testimony in front of me, but I believe the end result is that the residential and commercial gets -- goes up from 1.84 to 2.24 as far as its index, and all other groups go from 1.84 down to 1.12.  

All you did was take the average use factor and divided by something like 0.6, if I remember correctly, which is the revenue share associated with residential and general commercial classes.  So that's what you did.  

So you both end up assigning the total average use factor to be the residential or residential and commercial classes.  So that's where I say it is similar.  

MR. PENNY:  But you say they end up in the same place, but then I thought you said that even though the methods may be different, that they're suspect for the same reason.  I didn't understand that.  That's really what I wanted to get at. 

DR. LOUBE:  Why did you divide -- You took a total -- 

MR. PENNY:  What is your concern?  

DR. LOUBE:  My concern is if you end up in the same place, then the theoretical underpinnings of where you ended up is necessarily to be expected.  PEG's, we have all agreed, is improper.  And all you did was divide one number by another and got exactly where PEG was going in the first place without any explanation of why you should divide one number by the other.  

MR. PENNY:  So your point is that because they end up in the same place, that that the methodology is suspect?  

DR. LOUBE:  Correct.  

MR. PENNY:  All right.  And the issue there is, because you are assigning all of the average use responsibility to the general service --  

DR. LOUBE:  Correct.  

MR. PENNY:  -- category?  

DR. LOUBE:  That's what you're doing. 

MR. PENNY:  And that has nothing to do, though, with the individual rate categories?  

DR. LOUBE:  Well...  

MR. PENNY:  All 15 of them, or whatever they are. 

DR. LOUBE:  Whatever you have put into that group, okay.  

MR. PENNY:  All right.  I think Board Staff in one way or another covered most of my questions.  And so probably rather than refer to my questions, I will just ask some follow-up questions on those areas because I think you have touched on them.  

In having regard to your evidence at page 25, and that's both the table 2 and the discussion that follows.  

First of all, just as a specific matter.  As I read the table under the alternate X factors for Union section, your recommendation of using of equating X factor with inflation produces, or is really at the extreme high end of the cost weights; right?  Because we're talking about now, a 2.04 inflation.  Right?  

DR. LOUBE:  Given this year.  Next year's it could be lower. 

MR. PENNY:  Give this year, given what the current forecast is you have assigned Union the extreme high.  

DR. LOUBE:  It's in the high part.  

MR. PENNY:  Yes.  Just as a more general question, 
Dr. Loube, is it your professional opinion that an X factor should be, in this case, that the X factor should be equated to inflation?  

DR. LOUBE:  Yes.  And I say that because it is necessary, when you move from your current regulatory scheme to a new regulatory scheme, in my opinion the consumers should benefit.  Why are we moving to a new regulatory scheme if we're going to make consumers worse off?  

And according to your regulatory scheme and Enbridge proposed regulatory schemes, consumers will be worse off.  

Why do I say that?  

Because, okay, you want a 1.84 percent annual price increase.  The PEG has determined that under the current regulatory scheme, your customers have only had a 0.87 percent average annual rate increase.  

So there is nothing beneficial to consumers in the scheme that you have suggested.  

I have suggested a scheme that would benefit consumers and at the same time, because of the earnings sharing mechanism, protect the investors from losses because you have downside protection.  And the earnings sharing mechanism also provides you with an incentive to reduce costs.  

So my combination of recommendations meets the requirement to have an incentive scheme, protects investors from low end problems with the incentive scheme, provides consumers with a benefit, and also, with the ^high end part of the earnings sharing mechanisms, ensures against excessive profits.


MR. PENNY:  That's really getting to the point of my question.  I'm just trying to establish what it is you are saying.  So that's the sole basis on which you make this recommendation?


DR. LOUBE:  Correct.


MR. PENNY:  You are not relying on any authority in econometric literature, for example, for the proposition that an X factor should be -- that you can equate an X factor to the inflation factor?


DR. LOUBE:  What I have shown is that the range is very large, no matter what econometrics or statistical background you have, and whatever number you eventually pick, you know it's going to be wrong because of the range being so wide.


Therefore, let's pick a number that we know will benefit consumers.  We're going to a new scheme to do something.


MR. PENNY:  Yes.  With respect, that wasn't quite an answer to my question.  Let me put it to you slightly differently.


Can you cite to me any authority from econometric literature that would suggest that you need to or should equate the X factor in an incentive program with inflation?


DR. LOUBE:  There is no citation saying yes or no.


MR. PENNY:  All right.  That's good enough for me.  Let me ask this.  This is again coming back to the service group pricing issue.


You say -- and you were asked about this briefly by the Board Staff.  It was their question 10, where you say you recommend the OEB postpone reviewing the issue of relative service group pricing in this proceeding.  You gave an explanation as to why you think that.


What I want to try to pin down today is whether you have anything in mind at this point or whether it is just purely an open book which you think needs to be looked at.


DR. LOUBE:  This is an open book that needs to be looked at.


MR. PENNY:  We're not going to hear from you later in this proceeding that you have a theory about this or that you have --


DR. LOUBE:  I have been asked to explain one alternative that is a reasonable alternative.


I have not been asked to say --


MR. PENNY:  You're not recommending that alternative?


DR. LOUBE:  I'm saying that that is a viable alternative.


MR. PENNY:  Hmm-hmm.


DR. LOUBE:  But I think that all of the alternatives must be looked at in a future hearing.  That's what I'm saying.


MR. PENNY:  Right.  But we have your complete evidence on this issue?


DR. LOUBE:  Once I explain to the Staff in their undertaking.


MR. PENNY:  Yes, fair enough.  All right.


MR. WARREN:  Are you asking for the secret portion of our testimony that we're going to bring in later?


MR. SHEPHERD:  You don't want to ask for that now?


MR. PENNY:  I assumed that I wasn't allowed to ask for that now, so I thought I would save it and ask for it later.


DR. LOUBE:  We give you regular additions to other citations.


MR. PENNY:  This is in a similar vein, Dr. Loube.  In questions 6, 7 --


DR. LOUBE:  Excuse me one second.


MR. PENNY:  Yes.


DR. LOUBE:  I know my last name.  It's not your fault.  It is hard to pronounce.  It came from a big, long name that got chopped off at Ellis Island.  It is pronounced Loube.


MR. PENNY:  Loube.  I thought that's what I was calling you.  My apologies.  Mr. Thompson must have infected me with the mispronunciation of your name, because I actually asked your counsel of how to pronounce your name and he told me accurately, and I was hoping I was saying it that way.  So my apologies.


DR. LOUBE:  That's okay.


MR. PENNY:  You had a discussion with Mr. Millar relating to -- I think it was the same theme in question 6, 7(a) and (b) and 9.  And with respect to the discussion about the Board Staff question 6, you were asked whether you had a preference, and you said you had no preference.


I simply want to, again, pin down that that's your position today and that's going to, as far as you know, remain your position in this proceeding?


DR. LOUBE:  In this analysis, what I did was that I compared the testimony -- the PEG studies, the testimonies of the other individuals, and I tried to explain why there is such a large difference in the results that they provided.


I think I did that.  At the same time, I was not driving towards giving the perfect number, because, in my opinion, the perfect number cannot be found.  We have a range.  You're asking the numbers to be more precise than they can be.


MR. PENNY:  Well, I'm not asking for anything about those numbers.  I simply want to know whether we have the complete -- your complete evidence on this point.


DR. LOUBE:  My complete evidence is in the record, yes.


MR. PENNY:  We're not going to be hearing from you later that you have now decided you do have a preference for something?


DR. LOUBE:  No.


MR. PENNY:  All right.  With respect to question 7(a), it was a similar question.  I think you said you hadn't done a study and you don't know which is better, I think is what I wrote down.


I guess I wanted to ask you about that, whether you think it is possible to know which is better, or whether what you're really saying is that, in your view, it is not possible to know which is better?


DR. LOUBE:  The start and end dates -- there's no theory as to which start and end date to use, okay?


MR. PENNY:  But apart from whether there is a theory about -- at large, about which start and end dates to use, are there indicia in the calculation of the measurements that would inform the decision about what start or end dates to use?


DR. LOUBE:  PEG attempted to say that the indicators should be either the weighted return on capital or the real return on capital.


They said the reason why they wanted that is because they believe that during the planned period, whether it be 2008 to 2012 or 2008 to 2011 or 2000, whatever, the planned period would be relatively the same as the end period weighted return or the end period real return.


When I looked at those numbers that they were comparing to, and I see that both the weighted and the real change a lot and that the impact of finance, the impact of the change in the rate between the Canadian dollar and the US dollar, the US mortgage situation as we see it today, all of these things will change the weighted and real rates of return.


Therefore, I don't think that it is possible to say that the current rates of return are indicative of what the returns would be in the future.


MR. PENNY:  Well, I will come back to that in a sec, but again, with respect, that wasn't quite my question.


My question was more a question of principle.  Is it your position that in this type of analysis, that it is not possible to know which start or end date is better than another?


DR. LOUBE:  You can try to say, I've picked what looks to be reasonable given the data set that I've got.  And everybody can use their professional judgment and say, I've picked the one that is reasonable.  


And yet, when you throw all of those reasonable statements up against the wall at the end of the day, the criteria you used would really be someone's professional judgment.


MR. PENNY:  All right.  Well, that's fair enough.  


Coming back to the more specific point you made to me a minute ago.  Do you agree that the cost of capital changes, if you use the 2000 to 2005 data set, significantly in a way that it does not change if you use the 1998 to 2005 set?


DR. LOUBE:  I think the input indexes could change.


MR. PENNY:  I'm sorry?


DR. LOUBE:  The indexes that were based upon the cost of capital change.


When I give an answer to the question about table 2 --


MR. PENNY:  Yes.


DR. LOUBE:  -- I will show an answer to your immediate question.  

MR. PENNY:  All right.  Thanks very much, Dr. Loube.  Those are the questions that we have.  

MR. ROSENBERG:  It's 10:30 now.  Let me canvas the room.  Are there any other questions for Dr. Loube?  

MR. SHEPHERD:  I may have a couple of questions but I am still trying to figure out if I do or not. 

MR. ROSENBERG:  Well, if there are questions we should then take the morning break.  

MR. FARRELL:  Enbridge also has questions.  So I think we should have the break so we can shorten the list. 

MR. ROSENBERG:  Why don't we have a break until ten to eleven.  Thanks very much.  

--- Recess taken at 10:30 a.m. 


--- Upon resuming at 10:56 a.m.


MR. ROSENBERG:  It's now five to 11:00 and we were going to start at ten to 11:00.  I see Union isn't here yet.  Before Union arrives hopefully within the next few minutes or so, are there any matters that anybody wants to raise?

Procedural matters


MR. WARREN:  I have canvassed the room and there would appear to be only one party who has a -- the remote possibility of a question for Dr. Booth.


MR. ROSENBERG:  Right.


MR. WARREN:  And that's Mr. Shepherd, who has indicated to me that he will -- if he has questions for 

Dr. Booth, he will provide them in writing and Dr. Booth will respond.  So that unless I hear screams from somebody, Dr. Booth will not be here tomorrow.


MR. ROSENBERG:  Any screams?  Any whispers?  Well, let's assume that Dr. Booth won't be here.


MR. WARREN:  Michael Penny just observed screams of delight.  I could comment on that, but I won't.


[Laughter]


MR. WARREN:  Okay, thanks.


MR. ROSENBERG:  Are there any other preliminary matters?


MR. PENNY:  I just wanted to observe I forgot I had one final follow-up question.


MR. ROSENBERG:  Oh, here is the secret question.


MR. PENNY:  This is the secret question for Dr. Loube.


MR. ROSENBERG:  Before we get to that question, are there any other procedural or preliminary matters?  If not, Mr. Penny.

Further Questions by Mr. Penny


MR. PENNY:  Thank you.  Dr. Loube, on the question of outputs, I think it was Board Staff question 3 on the question of outputs, and you had made the observation, I think both in your evidence and in your response here today, that the use of the billing determinants are proxies for the underlying service.


I simply wanted to ask you to confirm whether, in your view, those are reasonable proxies?


DR. LOUBE:  Yes.


MR. PENNY:  All right, thank you.


DR. LOUBE:  The point of my testimony in that instance was to point out that there was another reasonable proxy that was not in.


MR. PENNY:  Understood.


DR. LOUBE:  Okay.


MR. PENNY:  Thank you, sir.  That's all.


MR. ROSENBERG:  Okay.  Where are we going next?  Enbridge?  Let's just see, who -- this isn't a proceeding, so it's not as if you are foreclosed from asking questions at the end, but I know Schools has questions; Enbridge.  Is there any other party at this moment?


Okay, again, you're not foreclosing your rights.  Enbridge.


MR. FARRELL:  I am going to let -- I'm not going to let, I'm going to have Mike Lister ask most of the questions, because at this point on my learning curve, he will understand the answers far better than I will.  And then Patrick has a couple of follow-up questions.


And I might just add that we used the break to good purpose.  We cut our questions in half in the light of what had happened, the questions and the topics from Dr. Loube's answers before the break.  So...


MR. ROSENBERG:  Thank you.

Questions by Mr. Lister


MR. LISTER:  Thanks, Jerry.  It's on.  Can you hear me, Dr. Loube?


DR. LOUBE:  Yes.


MR. LISTER:  Just a few questions, and then I am going to turn it over to Patrick for a couple of questions.


My first question is:  

Does Dr. Loube see any difference between the construction of an X factor for a revenue cap, a revenue cap per customer or a revenue per customer cap index?


DR. LOUBE:  Yes.  Usually you have an output in just the plain revenue that is not in the revenue per customer.


MR. LISTER:  Okay.  Second question.  

It's the company's understanding that the evidence of Dr. Cronin on behalf of PWU, that he states in his evidence that an understanding of cost levels is at least as important as an understanding of TFP in determining an X factor.  Would you agree with this or do you take exception to that in any way, shape or form?


DR. LOUBE:  I have an undertaking already under way to make an analysis of Dr. Cronin's testimony.  When I do that, I will incorporate an answer for you.


MR. LISTER:  Great.  Okay, thank you.  Do you know which undertaking number that was?


MR. MILLAR:  It is JTD.6.

UNDERTAKING JTD.6 (ADDITION):  DR. LOUBE TO INCORPORATE RESPONSE TO MR. LISTER'S SECOND QUESTION


MR. LISTER:  Okay, thank you.  It appears that you are defining customer benefit as reduced prices and ensuring against, in your words, excessive company profits.  Is this correct?


DR. LOUBE:  Those are part of what the customer wants, yes.  


MR. LISTER:  Would the consumers benefit in any other way?


MR. LOUBE:  Service quality.


MR. LISTER:  Further, is your principal focus prices for existing customers, and does the company's ability to add customers play a secondary role?  If that is true.

DR. LOUBE:  Those are both important.  It is important to understand how the prices affect existing and new customers and the ability to add customers.


MR. LISTER:  Okay.  The last question for me this morning is, on page 5 you state, and I will quote here:

"The fact that the reported and recovered expenses are greater than the expenses that could be sustained by a firm operating in a competitive market means the regulated firm is inefficient."


So the question is:  

Do you have evidence to sustain this claim for either Union Gas or Enbridge, or is this just a theoretical argument?


DR. LOUBE:  This is a theoretical argument on the basis of why people have associated or preferred or asked for incentive regulation.


MR. LISTER:  Okay, that's fair.  Thank you.  Those are my questions.

Questions by Mr. Hoey


MR. HOEY:  Dr. Loube, if we could turn to page 12.  This is your example about investment within the ESM.  I just want to understand the example again.  You're saying here, if I understand, we had an original $1 million investment; is that correct?


DR. LOUBE:  Correct.


MR. HOEY:  Then we had -- you said assume that there were $500,000 worth of revenue, $420,000 worth of expense and that generated your 8 percent return; is that correct?


DR. LOUBE:  That is correct.


MR. HOEY:  Then in response to the incentive, the company reduced its cost by $40,000, and therefore was earning 12 percent; is that correct?


DR. LOUBE:  That's what it says, yes.


MR. HOEY:  Then so all of that stays the same.  Then at the end you say that this can be compensated by the company providing an additional $200,000 worth of investment; is that correct?  It is an incremental investment of $200,000; is that correct?


DR. LOUBE:  Yes.  I am using net investment at this point.


MR. HOEY:  But my understanding is that there is no change in the total revenues and there is no change in the costs by adding the additional $200,000.


DR. LOUBE:  I'm just using this as a hypothetical example.  I did not go through a total analysis of all of the impacts.


I understand where -- at least I think I know where you're going, and that is if you add more plant, you usually do that to sell something in addition to what you currently have.  And I would say that's probably true.  But I am just showing a hypothetical of where another incentive might take place.


MR. HOEY:  That might have been one of my questions, but that wasn't the one I was thinking of.


What I am asking you to confirm is that you've hypothetically invested $200,000 and you've gotten zero revenues and zero cost reductions from it?


DR. LOUBE:  Yes.  In the hypothetical, yes.


MR. HOEY:  Okay, thank you.


On page 24, you talk about stretch factor.  Your evidence states that PEG uses a stretch factor of 0.5 and it is just indicative of standard commission practices.  I am assuming you're meaning here regulatory commission practices; is that correct?


DR. LOUBE:  That's correct.


MR. HOEY:  Okay.  Is there any econometric literature which verifies that or justifies a stretch factor should be built into the X, or is it just a regulatory construct that has developed?


DR. LOUBE:  It's a way of sharing -- yes, it is a regulatory construct.


MR. HOEY:  So on the next page, when you do the table, if I look at the stretch factor line across, on the low end you still use an X factor ^24k or a stretch factor of 0.5.  

Why would that be your low end as well?  

DR. LOUBE:  Because that is the one that is put there to allow for sharing of the benefits of the incentive program.  

MR. HOEY:  But you just said it is just a regulatory construct.  

DR. LOUBE:  Yes.  It's a Board regulatory concept --

MR. HOEY:  -- and I think on a previous page you said that both Union and Enbridge say from a regulatory construct it would be zero, so why wouldn't the low be zero?


DR. LOUBE:  It's a regulatory construct that I put in to make the alternatives that I have in front of me.  If you want to propose a different regulatory construct, that's up to you.  

MR. HOEY:  Okay, thank you.  Those are my questions.  

MR. ROSENBERG:  Schools.  
Questions by Mr. Shepherd


MR. SHEPHERD:  Okay.  Can you hear me okay?  

Dr. Loube, in a previous discussion I think with Board Staff you said that if the X factor becomes out of date -- that is, past four years in your construct -- the wrong incentives are being provided to the utility.  I take it those wrong incentives are, that they're making excessive returns?  The examples you gave of telecoms making 
40 percent and those sort of things.  

DR. LOUBE:  In this particular instance, it would be the price trend that they have as the goal or they are set against them.  In other words as the X factor doesn't change, the price trend stays the same.  And that is what's driving them to become efficient.  

Well, that price change should -- that cost trend should change if anything in the X factor changes.


MR. SHEPHERD:  I understand that.  The thing that was confusing me is I didn't understand what behaviour you thought was being incented wrongly by the X factor being out of date.  What things would they do because it was an out of date X factor they wouldn't otherwise do? 

DR. LOUBE:  They might not put in enough cost savings or they might put in too much cost savings.  They might try to put in unwarranted cost savings in order to capture what they can.  

MR. SHEPHERD:  So the problem is just it is not optimized?  

DR. LOUBE:  It's not optimized.  

MR. SHEPHERD:  Okay.  I have asked this question of Dr. Lowry earlier and I will ask a similar question of you.  

If you have existing price differentials, one of the things you talk about is that price cap regulation is intended to get regulation away from cost driving rates; right?  

So if there are existing price differentials between Union and Enbridge, for example, and let's assume that you can find a way to adjust correctly for the exogenous factors like density, is it reasonable for the higher cost utility to have a higher X factor because they have more productivity opportunity?  

DR. LOUBE:  I understand what you're saying, in that if you start off as a weak player, you can copy the strong player and, therefore, make an extra bonus out of that.  

I prefer, though, even though while that may be true, I prefer to have -- 

MR. SHEPHERD:  Okay.  Before you go on.  Can you just tell me, is it true or not?  

DR. LOUBE:  It could be true, yes.  I don't know which one is the stronger one at this point.  

MR. SHEPHERD:  Okay.  Go on, sorry.  

DR. LOUBE:  Okay.  To have the trend, not the price level, but the trend which is what the price cap index does, they both start against a different price, but prefer the trend to be the same, because that's the trend in what the entire industry could do.


So what's happening under price cap index is saying, let us give the opportunity to the company to see if it can do better than what the trend would be for the average company in this industry.


Now, the alternative, what you're suggesting or I don't know if you are suggesting, but I don't want to put words into your mouth, would be to say, take something instead of a regular regression equation -- which sort of fits an average pattern -- take what's known as a frontier regression, which sort of does the bottom envelope, which finds only the most efficient firms, and then force people to use that as your goal.  If you did that, then if the two companies starting, one was inefficient, it wouldn't benefit from its inefficiencies because it would have to meet the goal of the most efficient company in the industry.  

MR. SHEPHERD:  Okay. 

DR. LOUBE:  But that is not what this particular price cap formula is designed to do.  

MR. SHEPHERD:  Okay.  On page 12, you had this wonderful example which you are getting so much grief for today.  I just have one question.  

You propose an earnings sharing mechanism, and what I don't -- one of the things you complained about in cost of service is that cost of service -- and correctly -- is that cost of service makes utilities less willing to invest in capital-saving technologies.  Isn't the effect of your example much the same, that in order to avoid earnings sharing, you are going to be less willing to invest in capital-saving technologies?  Is that right or wrong?  

DR. LOUBE:  That is right.  The problem that everybody is having -- or at least I think you're having -- is that you want one mechanism to be the perfect mechanism.  One mechanism to have all of the right attributes.  

You can't find that perfect mechanism.  That's why I compare the mechanisms, the different mechanisms, and come up with the one that I recommended as having the best attributes.  Not the perfect attributes.  

MR. SHEPHERD:  Okay.  You have a table on page 14 of your material that compares a price cap and a revenue cap.  

The thing I didn't understand about this is that I thought that both techniques are supposed to have a way of adjusting for average use.  It's just that one adjusts for it through the X factor and the other adjusts for it through the fact that you're using the revenue cap by itself.  But aren't they both supposed to adjust the average use?  

DR. LOUBE:  No.  The number that might be missing, that might be confusing people, so if you look at the total revenue where it says 413.40, 421.67.  That's a two percent increase in revenue.  Okay.  

In order to make that two percent increase in revenue, the revenue per customer cap would have to get a 2.6 percent rate increase.  That's what's happening in the first place.  

In the second instance, rates go up by two percent, so total revenue doesn't go up by two percent.  It only goes up by I think about 1.4, up to 419.11.  Now you could say, on the one hand, it is not giving them the right revenue or you could say on the other hand, the price cap is providing a stronger incentive to reduce costs so that you can earn a profit with less revenue.  

MR. SHEPHERD:  Okay, I understand.  

On page 20, you talk about using a weighted average miles of mains as a variable in the equation; right?  

DR. LOUBE:  Right.  

MR. SHEPHERD:  I take it that that's intended to, in effect, be both the volume and the density variable?  Because you weight the average, it means it covers both?  

DR. LOUBE:  It does give you a little bit more impact of volume on the size of the mains.  

MR. SHEPHERD:  But you're not saying that it would replace the volume variable, as well?  

DR. LOUBE:  I don't think so.  I haven't done a regression analysis.  I don't have the data to do that.  

MR. SHEPHERD:  Okay, so then that was the question I was driving to.  Have you done any testing of that variable to see what effect it has in the real world?  

DR. LOUBE:  No.  I don't have the data.  

MR. SHEPHERD:  Okay.  Then on page 22, you say and I am quoting:  
"It is customer growth that will probably allow a company to become more productive." 

Is it reasonable to infer from that, that a utility that has a higher level of customer growth has a higher opportunity for productivity and therefore should have a higher X factor?  All other things being equal.  

DR. LOUBE:  No.  It just shows whether or not they're capable of getting to a higher growth factor.


I really still believe that you need the industry as a standard.  You don't want to make your standard an individual company's experience, because then you go back historically and look at what the company did and it might include the individual company's own lack of innovation, lack of cost savings.


So there is this need to have a standard that is independent of the individual company, and that's why I'm insisting on having the industry level productivity used.


MR. SHEPHERD:  So you're using a purer competitive market's model than perhaps some other analysts would use?


DR. LOUBE:  I'm using a pure industry.  I don't know if I would call it "perfect competition", because you do have the so-called average use factor that shows that, in this industry, most companies are not setting price equal to marginal cost, which is sort of like the demark of a perfect competitive market.


MR. SHEPHERD:  Okay.  Your proposed X factor basically creates a rate freeze; right?


DR. LOUBE:  Yes.


MR. SHEPHERD:  Is it reasonable, in your view, to do a model of revenues and budgets that would result from a rate freeze for each of these utilities to see what the practical effects are, how much revenues that you could expect that they would have over the next five years?


DR. LOUBE:  If I was doing financial modelling, yes, I would do that, but I haven't done that.


MR. SHEPHERD:  I'm asking in the context of the regulator now.  Is it reasonable for the regulator to say, Okay, let's assume a rate freeze.  What does this mean in terms of revenue each year for these two utilities, and what does it mean in terms of their capital budgets and their operating budgets?  Is that a reasonable exercise?


DR. LOUBE:  You can start there, but you also have to understand that the expenses are going to change, also, and there's an incentive to reduce expenses.  So at this point I don't know what the result would be.


MR. SHEPHERD:  Okay.  My last question is you've said -- you've argued for the limitation of Y and Z factors; right?


DR. LOUBE:  Yes.


MR. SHEPHERD:  Because they move the scheme closer to cost of service; right?


DR. LOUBE:  They would do that, yes.


MR. SHEPHERD:  In your experience, is it true that Y and Z factors, on average, tend to be increases rather than decreases?


DR. LOUBE:  Yes.  In almost every regulatory setting I've been into, the companies come in with Y and Z factors, and, off the top of my head, I cannot remember them coming in with one that reduced cost.


MR. SHEPHERD:  Is this just because of the asymmetry of information, or is it because of the design of the Y and Z factors or is there some other reason for this?


DR. LOUBE:  Well, I mean, a company -- if, say, the government reduced taxes, tax rates, then those are probably the few instances where I remember coming in for a reduction in a Z factor.


But, for the most part, companies don't come in and ask for decreases.


MR. SHEPHERD:  Is it fair, then, to assume that -- assuming there are some Y and Z factors that are left in the plan, if the Board accepts your rate freeze, that doesn't mean there won't be rate increases?


DR. LOUBE:  That's correct.


MR. SHEPHERD:  Okay.  I don't have any more questions.  Thanks.


MR. ROSENBERG:  Thank you.  Are there any other questions from any party on the evidence?


I don't see anybody coming forward.  So I take it we're done?

Procedural Matters


MR. THOMPSON:  Ken, I was just going to say that I have canvassed the parties with respect to questions for IGUA, and my understanding is that Union does not have any questions and Enbridge doesn't have any questions.  Board Staff, I believe, has a couple, which they have agreed to put in writing.  So I won't need to bring Mr. Newton down here tomorrow.  


I am assuming that everybody else can live with that plan?


MR. PENNY:  Yes, that's correct.  As I said to 

Mr. Thompson earlier, we take the view that the Newton piece is argument and we don't have any questions for 

Mr. Newton.


[Laughter]


MR. ROSENBERG:  A disagreement on the evidence.  That is very unusual.


Okay, well, thank you.  This witness, I think we're done.  And let's talk about tomorrow, then, and scheduling.


MR. WARREN:  We will file the undertaking responses as quickly as we can, and also the secret evidence will be coming in the brown envelope.


MR. PENNY:  Just to me.


MR. WARREN:  No, not to you.


MR. ROSENBERG:  Just to the hearing panel and everyone else.


[Laughter]


MR. ROSENBERG:  Thank you for this evidence.  I think we are done today, save for let's have a two-minute discussion about tomorrow so we know what we're doing.


The first thing is I won't be here first thing.  I am currently double booked and -- actually, I was triple booked, and all things are actually on at the same time, which sometimes happens.


So I will be here hopefully later in the morning, but let's talk about what is going to happen at 9 o'clock tomorrow and who is on first and that you have a schedule, because I gather two witnesses now won't be attending.


So who is up first tomorrow?


MR. MILLAR:  I think there is only one witness tomorrow now.


MR. ROSENBERG:  That's it?  You may be done by the time I get here.  So we all know what we're doing tomorrow?


MR. PENNY:  What is your timing issue?


MR. ROSENBERG:  I am double booked?


MR. PENNY:  Until when?


MR. ROSENBERG:  Oh, I was saying to Richard, probably 11:30.  But, you know, sometimes lawyers talk a little more.  It's happened.


So I think you should start and maybe you will be done.  Are there any other matters before we adjourn for the day?


Otherwise, 9 o'clock tomorrow morning.


--- Whereupon the conference adjourned at 11:22 a.m.
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